
11 %

TB = 63
NTB = 49

Total = 112

TB = 2
NTB = 7

TB = 61
NTB = 42

TB = 18
NTB = 22

TB = 43
NTB = 20

TB = 0
NTB = 5

TB = 18
NTB = 17

TB = 18
NTB = 1

TB = 25
NTB = 19

Age < 20 years* Age > 20 years

Chest pain -
no

Age < 32
years

Age < 31
years

Age > 31
years

Chest pain -
yes

Age > 32
years

TB = 17
NTB = 11

TB = 1
NTB = 6

0 %

Age < 60
years

Age > 60
years

14 %

TB = 12
NTB = 5

TB = 5
NTB = 6

Dyspnea -
no

Dyspnea -
yes

71 % 45 %

95 %

TB = 4
NTB = 9

TB = 21
NTB = 10

31 % 68 %

Weight loss – no Weight loss –
yes


